THE ANCIENT ORDER, THE
TJEWS AND THE JAPANESE

THE BEAST OF BURDEN CODES BY ALPHABET:
#The Beast of Burden code is BOB, 202, 2/2 or February 2nd, the 33rd day
of the year. 22 33. These are the alphabet 22 and 233 :ndes+

® The 22 codes: A0 BT CS5 DR EQ FP GO HN IM EEK and V
® The 33 codes: GE HY IX JW KV LU MT NS OR PQ —;?iq

THE ANCIENT ORDER'S "a" anp "o":

#AE bEimes the ANCIENT GRDEH ‘chooses people and places whose names have
only the ORDER's initials( A" and "0") as vowels.
ADOLF HITLER: THE "A" AND "O" AND THE SCIENCE OF MATHEMATICS:

@ The name "Adolf" has only "A" and "O" as vowels,

@® 2dolf Hitler was also chozen becausze his name iz a multiplication of
a Beast of Burden additlon and subtraction. 22 33. 2+2+3+3=10. 10 iz the
addition. 33-22=11. 11 is the subtraction. The multiplicaticn: 10x11=1140.

prdalf is 1+4415+12+6=38. Hitler is B+%94+20+12+5+18a72. 38472=110.
POLAND :

#Poland was chosen because it has only "A"™ and "0O" as vowels.
GENERAL YAMAMOTO:

@#Yamamotoc was the Japanese General who planned and carried ocut the
attack on Pearl Harbor. Yamamoto has only "A" and "O" asz vowels.

PEAEL HAEBOR:
@ "Harbor" has only "A" and "O" as vowels.
LOS ALAMOS, H.M.:

@ On July 16, 1945 the first nuclear Explns on was tested in Los Alamos,
New Mexico. Los Alamos has only "A"™ and "0" as vowels.
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THE CIRCLE:

$Circle is 3+9+18+3+12+5=50, Circle adds to 50. NAEI is 14+1+26+9=50,
exactly the same as circle, The 50th day of the year is February 19, 2/19,
The Dirksen Federal Building in Chicago is at 219 5. Dearborn.

THE SWASTIEKA:

.'The swastika is the Mazi symbol. It has four{4) 90 degree angles. That
would be 4 X 90 = 360 degrees, exactly the same as the circleae.

THE ANCIENT ORDER'S MOTIVE:

§The ORDER had sclved the secret to the power of the atom. For centuries
thay have killed others. They now wanted to do so with their new-found
atomic knowledge. They needed a target and that target had to deserve it.

® W iz one of the Beast of Burden 33 codes, That is one reason for them
targeting the Jews. The other was wealth exchanging from someone else's
hands to theirs. That is why the gold teseth, stc. The Japanese were set up
ko sneak attack the U.5., the "future' inventors of the atomic bomb.

WHY THE JEWS AND JAPANESE:

# The Beast of Burden code is 22 33, J is the 10th letter of the alph-
bet and 2+2+3+3=10. Jew and Japan both begin with the 10th letter.

1933, THE INVISIBLE MAMN AND THE "“TIM" CODE:

@In 1333, years bafort World War II; the ANCIENT ORDER
show-cased their devices' hildden capablilities in the movie
THE INVISIBLE MAN. The 33rd year was to honor the Beast of
Burden code., The initials of "The Invisible Man" are "T",
"I" and "M" or Tim, short for Timothy; another code.
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